ﬂé Addition and Subtraction within 20 Name:

Solve each problem. Answers
1) A store had twelve sodas. If they sold six of them, how many would they have left?
1.
2) Edward walked seven miles on Monday and three more on Tuesday. How many milesdid || ¢
Edward walk?
3.
3) John had eleven cherries. He ate eight of them. How many cherries does John have left? 4
5.
4) A clown had six balloons. He gave three away at a party. How many balloons does he still
have?
6.

5) A pet store had six birds that talked and five that didn't. How many birds did the pet store || /-

have total?
8.
6) Cody had caught some butterflies. He let two go and now he has eleven left. How many
did he originally have? %
10.
7) Emily had two books. If she bought seventeen more at ayard sale how many would she
have total? 1

8) At the zoo a cage had eighteen bears. If ten were hiding, how many bears were not hiding? || 12-

9) A baker sold four cakes. Now he has six cakes. How many cakes did the baker have to start
with?

10) George spent $4. Now he has $14. How much did George have before he spent his money?

11) A chef had ten apples. After making a pie he had eight left. How many apples did he use in
the pie?

12) At the arcade Mike had won thirteen tickets. After buying ayoyo he had nine tickets | eft.
How many tickets did the yoyo cost?
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Addition and Subtraction within 20 Name Answer Key
Solve each problem. Answers
1) A store had twelve sodas. If they sold six of them, how many would Take From
they have left? (Result Unknown) | 4 6
2) Edward walked seven miles on Monday and three more on Tuesday. Add To 2. 10
How many miles did Edward walk? (Result Unknown)
3 3
3) John had eleven cherries. He ate eight of them. How many cherries Take From 3
does John have left? (Result Unknown) 4
5, 11
4) A clown had six balloons. He gave three away at a party. How many Take From
balloons does he still have? (Result Unknown) 5 13
5) A pet store had six birds that talked and five that didn't. How many Add To 7. 19
birds did the pet store have total ? (Result Unknown)
8. 8
6) Cody had caught some butterflies. He let two go and now he has Take From 10
eleven left. How many did he originally have? (Start Unknown) 9.
10, 18
7) Emily had two books. If she bought seventeen more at ayard sale Add To
how many would she have total? (Result Unknown) m 2
8) At the zoo a cage had eighteen bears. If ten were hiding, how many Take From 12. 4

bears were not hiding?

9) A baker sold four cakes. Now he has six cakes. How many cakes did
the baker have to start with?

10) George spent $4. Now he has $14. How much did George have

before he spent his money?

many apples did he use in the pie?

(Result Unknown)

Take From
(Start Unknown)

Take From

(Start Unknown)
11) A chef had ten apples. After making a pie he had eight left. How Take From
(Change Unknown)
12) At the arcade Mike had won thirteen tickets. After buying ayoyo he Take From
had nine tickets left. How many tickets did the yoyo cost? (Change Unknown)
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ﬂé Addition and Subtraction within 20 Name:

Solve each problem.

7

3 19 10 18 8

10 6 11 3 13

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A store had 12 sodas. If they sold 6 of them, how many would they have left?

Edward walked 7 miles on Monday and 3 more on Tuesday. How many miles did Edward
walk?

John had 11 cherries. He ate 8 of them. How many cherries does John have left?

A clown had 6 balloons. He gave 3 away at a party. How many balloons does he still
have?

A pet store had 6 birds that talked and 5 that didn't. How many birds did the pet store have
total ?

Cody had caught some butterflies. He let 2 go and now he has 11 left. How many did he
originally have?

Emily had 2 books. If she bought 17 more at ayard sale how many would she have total ?

At the zoo a cage had 18 bears. If 10 were hiding, how many bears were not hiding?

A baker sold 4 cakes. Now he has 6 cakes. How many cakes did the baker have to start
with?

George spent $4. Now he has $14. How much did George have before he spent his
money?

Answers

10.
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